[image: image1.jpg]FrAL R TR EE AT
10542 HUsE H ik

ZE N AT | | i
02/02 | cimh--) | ¥ 484t AFE 18,500 || 02/29 | A\EEEr | A Chs . thal . st 49
02/02 | gE |FIBBIIRTITH: 10,000 || 02/29 |HiEE 2
02/04 | Aty | 10,000 HEEHR R AR
02004 [AErEt AR T 10,000 | 0220 |z | S CRIRELE
02/04 | e | T8 R - OERT T 10,000 L
02/16 | A | RUUEFEIRITHCAAE) 10,000
02/16 |HHEGE | KUBFERITHQCHAS) 9,167
02/16 | ER#s |1RiE1200% 1 CRELEIRS) 1,200
02/19 g BHRT% | 1200%2(HE) 2,400
02/19 (& R |RIE1200%1 (JEA%) 1,200
02/19 |HtncEph-) | B CIEEE90* 1 (JFEAR) 90
02/19 & EHR7 |HEE1200%1 (LaE) 1,200
02/19 |Hftrcmmr-) |2 RIEEER90* 1 (LE)) 90
02/19 |HHEgE |elEikiTH 10,000
1052 S e
02/19 |JEEECE: | EERAE2000% 1 (HEIRIR - 2,000
&db)
02/22 |HHFEgE |FEHITH: 10,000
02/22 |HHEFE |RESITH 10,000
02/22 | g |RFNRTH: 10,000
02/24 |&r 2R |(RiE1200%10(EIEE %) | 12,000
02/24 | At HRw)--) |2 AHEHEER90* 10 HIFE &) 900
02/25 |HibciEm-) | s (] 2,000
0225 | \&g & |[&FESIRITHH(GAAE) | 10,000
02/25 |HAEGE (AFRPEIETHGAAS) 8,333
02/25 | A&ty [REIRTTH A AE) 10,000
0225 |H A [TBEIRITHGHAAE) 8,333
02/25 | At CHEID-+ ) | 10SHE LGP 1 e W (Sn ARt ) 5,000
02/26 | S feas | IEH1200%2(Z5H) 2,400





[image: image2.jpg]FrALmiRITRE SR ESE A

10552 H U Sz H ¥z
WA Y
H A e N LS A HEH BH 7 X
PR B PR AT - S
thily ~ ok AT - R
fE ~ RORTERES ~ A
ok~ TO4E ~ kK
02/26 |H e ?Eﬂ%\% T%ffb ;3\{ 160,000
PR 17 N | N
el ~ =8 - BN
G3NE] o 160
JNEF B A 344,813 /s v = 27,270
A Herad 317,543
A EET 1,585,551
TR 4heR 1,903,094
W IRt E&MJQ

2k RIS





